SECTION - A (Marks 15)

Time allowed: 20 Minutes

Answer Sheet No.

Sig. of Invigilator.

.............................................................................................................................

.NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
. It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

.Q. 1  Circle the correct option i.e. A/ B JC/D. Each part carries one mark.
| (i) % in terms of percentage is:
- A 35% B. 25% C. 28% D. 7%
[ ] (i) On a crop produced on natural resources, Ushr is deducted at the rate of:
. A 5% B. 10% C. 20% D. 25%

{iii) 1 pound = kilogram. '
‘ A. 0.4236 B. 0.4336 C. 0.4436 D. 0.4536

(iv) If CP = Rs. 1540, Loss = 5%, then SP =
. A Rs. 1483 B. Rs. 1617 C. Rs. 1545 D. Rs. 1535
] v) The amount which is paid by the bank on the deposits is called:
‘ A Profit B. Bonus C. Premium D. Markup

{vi) The form of tax which the buyer pays on a manufactured item at the time of purchase is called:
] A. Income tax B. Sales Tax C. Excise duty D. Direct tax

(viij  Characteristics of log 6350 is: |
i

A 3 B. 4 C. 2 D. 1
] (vitum%m’ 3log2+log5=
B A logi3 B. log 40 C. log1000 D. log30
B (ix) In 3.5, 3.5 is called:
] A Radical B. fnteger 10 Radicand D. Natura!l nc .
a (x) AM. between -3 and 7 is:
‘ A 5 B. +/21 C. 4 D. 2
. (xi) G. M between 3 and 27 is: ‘
[ ] A 19 B 15 C. 30 D. 81
o {xii) The point P(5,0) lies:
A In first quadrant B. On x —axis

" C. in second quadrant D. On y—axis
. {xiii) The perpendicular distance of a point from x —axis is calted:
o ' Al Abscissa =~ B. Ordinate C. Crigin D. Straight line

(xiv)  For the set of values 6,8,13,18,18 27,23 Range is: '
o A 18 . B. 6 c. - 21 D. 27
A (xv) Standard deviation for ungrouped data is defined as: ‘

- 2 T2 T2
) A Xx-X)T Tx c Y f(x~X) 5 /}:(x—X)
‘ n ' R ' Zf ’ n
) For Examiner’s use only:
. Total Marks: 15
.' o Marks Obtained:
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GENERAL MATHEMATICS SSC-I a

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:

Attempt any twelve parts from Section ‘B’ and any Four questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3
Q.4

Q.5

Q.6

Q.7

Q.8

SECTION — B (Marks 36)

Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(i) A table costs a carpenter Rs. 720 to make. He sells it for Rs. 920. What percentage of profit did he earn?
(ii) Calculate Ushr on a wheat amounting to Rs. 3,50,000 produced by artificial resources.

(ifi) A square ‘A’ has side 2 cm and a square ‘B’ has side 6 cm. Find the ratio of: The perimeter of the square
A to the perimeter of the square B.

(iv) Find the marked price when, sale price = Rs. 858, Discount =12%.

(v) A shopkeeper gains a profit of 7% by selling a dinner set for Rs. 3852. If he sells it for Rs. 4050, find his
profit percentage.

(vi) Ali lent to Abid Rs. 4,800 for 7 months. At the end of this period Abid had to pay Ali profit of Rs. 119.
What was the rate of simple profit per annum?

(vii) Find compound profit on Rs. 800 for 4 years at 6 percent per annum.

S.a-1!
(vii)  Simplify and express with positive Indices: 23_’;98"3

(ix) The price of a bicycle is Rs. 3500. If 16% sales tax is charged, then calculate the amount of sales tax on
50 such bicycles.
(x) Khalid works 6 day-week. Find his gross monthly wage, if his rate of pay is Rs. 2C0 per day.

(xi) Find the 13" term of a G.P whose 7" term is 25 and common ratio is 3.
3

(xil} Simplify and write your answer in scientific notation: %ﬂ%

(xi)  Find the number of terms inan AP, if @, =3, d=4, a,=59

(xiv)  fU={1,23,... .. 20} and B={9,10,11,12,......... 20} then find BN B’.

{xv) If A={a,b,c} and B={2,4,6} and f={(a,4),(b,4),(c.4)} is a binary relation from A X'B, then show that "flisA
into B function.

(xvi)  If L={1,2,3} and M=(2,3,4}, then write a binary relation Rsuch that R ={(x,y) 1 xe L,y e M A y<x}.
Also write Dom (R) and Range (R). .

(xvii)  The total monthly income of 8 persons are Rs. 3000, Rs. 4000, Rs. 3500, Rs. 4500, Rs. 3800, Rs. 4200,
Rs. 3600 and Rs. 5400. Find their arithmetic mean.

(xviii) Draw the graph of : y=3x+5

SECTION — C {(Marks 24)

Attempt any FOUR questions. All questions carry equal marks. (4x6= ?4)

If the stay of 14 men for 8 days in a hotel costs Rs. 22 400. Find the cost for the stay of 7 men for 13 days.

Mr. Javed bought an insurance pelicy against his car worth Rs. 8,50,000 @ 4.25% for 3 years. What total amount
will he pay as premium, if he had not claimed any damages during the period? Rate of depreciation is 10%.

A sum of money is divided ameng three persons, A, B and C in the ratio 10: 7 : 5. If ‘B’ gets Rs. 14 more than
‘C'. How much will ‘A’ get and what is the total sum of money?

The positive G.M between two numbers is 6 and the A.M between them is 10. Find the numbers.

Evaluate using logarithm table: 223024369

The data in the frequency table shows the number of fish caught by 28 competitors in fishing competition.
Construct a cumulative frequency polygon (that is, an ogive) for the given data:

No of fish caught 0-5 | 5-10 | 10-15] 15-20 | 20-25| 25-30
Frequency 3 5 6 8 4 2 Total :28
— 15A 1618 — —
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